(@)

(b)

(©)

(d)

(@)

(a)

(b)

(©

(d)

4molNO  30.0gNO
— - | = 60.0
mass of NO = 2.00mol NH 4 x 2molNH, X T molNO g NO

6molH,0 18.0gH,0
A -864g YO
massof H,O = 4.00mol O, x 5mol O, 4 1 molH,O 9™

o a00molOny AMOINHa  22.4LNHg oy
volume of NH; = 3.00mol O, x 5mol O, *ImolNH, 3

4molNH.  22.4 LNH
idballs] s 2L W

~ W
volume of NH; = 0.750mol H,O x 5 molH,0 X o NA- 3

1 m0|C5H12 5 mol COz 44.09002

: . = 306

massof CO, = 100.09CgH 2 X 72.09CsH1a A 1 mol CsHys & 1 mol CO, - Coa
b A 1 molH,0 8molO, 32.090, 1429 O

massof O, = 60.0gH,0X 18.0gH,0 X 6 molH,O X 1molO, g a

1 mol CO, 1molCsHq2 72.09CsHy»
= 57.9
22.4LC0, X 5moiCO, X 1molCeHy, — 009 CsHn

1 mol CO, 8 mol O, 22.41L 0,
44.09CO, * 5molCO, « 1molO,
1 mol CO, 8 mol O, 22.4L 0,
22.4.CO, . 5molCO, « 1molO, 768L Oy
1molCO, 6molH,0 18.0gH,0O
52.4000, * 5moico, X Tmoim,0 - 1028 Y30

massof CsH, = 90.0 L CO, x

volume of O, = 70.0g CO, X

volume of O, = 48.0L CO; x

massofH,0 = 106 LCO, x

1 mol PbO 27molO, 22.4L0,
223.29PbO | 2molPbO * 1mol O,

1 mol Pb(CoHs)a 16mol CO,
323.2 g Pb(CoHs)a . 2 mol Pb(CaHs)a

6.02x1 O23 molecules CO, 16
X =1.49 x 10" molecules Coa

volume of O, = 100.0 g PbO x =135 L Oa

# of molecules of CO,=1.00 x 107° g Pb(C,Hg)s X

1 mol C02

20 molecules H,O
27 molecules O,
1 mol Pb(CoH5)4 27 mol O,

X
6.02x10°° molec Pb(C,Hs), 2 Mol PB(CaHs)s

# of molecules of H,0 = 135 molecules O, x =100 molecules 'HLO

volume of O, =1.00 x 10™ molec Pb(CyHs)y X

22.4L02 imL
273 mol O, X i

=5.02x 107 mL Q4



10.

j 1

12.

1 mol CH3zNO, 6 molH,O 18.0gH,0
(@) massofH,O =0.150 g CH3NO, X -
) : 9 CHaNOo X o5 CHLNO, * 4mol CHgNO, 1 molH,0 0.0664 g 30
(b) First, note that 4 mol of CHaNO, produce 4 mol CO5(g) and 2 mol Nx(g); that is, 6 mol of gas.

1 mol CH3NO> 6 mol gas 22.4 Lgas
volume of gas = 0.316 g CH;NO it
9 9 CRgN 2% 51,0 g CHaNO X4 mol CHzNO, X molgas

=0.174 Lja‘;
1 mol CO» 3mol0, 22.4L0;
44.09C0, < 4molCO, . 1molO,

() massofH,0 = 0.410g CO 1 mol CO» 6molH,0 18.0gH,0 _— “ O
S =Us =0
R 85 2% 440900, X 4molCO,  1molH,0 e |

(c) volume of Oy, =0.250 g CO, X

=0.0955 L Oa

s =6.05 \
kA s 28.1gSi X ITmolSi . 1molSiCl, g 4

: 2molH 2.0gH
—me 2 x 8n2 S04 g H
28.1gSi  1molSi ~ 1molH; o

mass of Hy = 1.00 g Si X

i 10°gN,Hs 1mOIN,H,  2molNHg  22.4LNHs
volume of NHg = 1.25 x 10" kg NoHy X kg NaHa x32.OgN2H4 X el Nakie X mol NH
=175 x10°L (\Ms
1 molH,SO4 imolP,O,c 284.0g P4O1o
L =222g ¥
mass of P09 = 46.09 804X g7 11 50, * §molH80, |« 1molP4O1o a P40

mass of H2804= 25.0mLx1.84

1molH,S80,  6molSO;  22.4LSOs
volume of 803 =46.09 HpSO4X 5g 370155, ¥ e molH,80, ~ 1Mol SOs

=105L 503



